FATTORIZZAZIONE DI UN POLINOMIO

Trinomio di II° grado       
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CAPITOLO DODICESIMO

F) Trinomi notevoli: |x2+ (¢ + b)x + ab = (x + a)(x + b).

x2—=5x+6; x?—10x+ 16; x>+ 2x — 3. o= 3= 2 bgag 8) o 2t 3Y) (5o = 1]
a?—=T7a+10; x?+4x—32; x>+ 8 +12. [(@a — 5)a—2); (x+8)x—4); (x+2)x+6)]
WA 815 v -Tot 6 P—2=35. [+ 3Ne+5); 0-Do—6); k—7k+5)]
a’—a—6; a*+a—6; a®— 154+ 56. (@ + 2)(a — 3); (g—é)(a+3); (@ = 7}z — 81
24 6et5; xPHAx—21; a®—34b—88b°. [+ 1) +5); e+ TMx—3); (a—11b){a+85)1
a’—6a—16; a’+a—2; x?—5ax—36a°. [(@+2)a—8); (a+2)a—1); (x—9a)(x+4a)]
b2—10b+21; c*—9c—36; s2—11st—60¢>. Pl et 3l 120 6 diils 150
x? = Txy + 10p%; x2 — 8y + 159%; p2 — 1lpg — 264°.

&= 29065y e =i8y) (e =5y IS (OSE D7) (H =T 3|

p?— 1lpg — 60g%; #% — 215 — 352, 67 =F Al = 15k)8 {62 AF S)G = Ss)l]
a?—ab—6b%; w?— 1luw — 2602, [(@ + 2b)(a — 3b); (u + 20)(u — 130)]
x% = 5wy + 6y%; 1%+ 8rs — 2052, : [ — 29906 = 39 Uit Os) (= 251
a?—(x+y)a+xy; x*—ax+a- 1. ez — ol =k Go= 16 =175l
y2—(@+2y+a+l; x2—(b+2x+b+1. [y =Dy —a—1); &~ 1)x~b—1)]
skt e gl 2 W00 20 + 2)]
ARl — ) [(a®+ 8)(z + 2)(a — 2)]
g S Oyie » o=l ok Ll = Ol S0 L 4]
xy? + 9%y + 20y; wy?+ 5y + 6y a’— Tat+ 12a.

X+ —2)x —yz; x>+ Gy +2)x? + 3yz; xf — 25x%92 + 144yt xt — 20x%y% — 64y4.
x*—5x2y? + dp*; 4* — 84%B2 + 1567 x*— 1062 +9; x? — 13x2 + 36.

x2 = 9%y +20p%; x2—15xy — 126y2; x2— 12xy + 11y%; @+ 2ab — 9962,

b*+ab —30a%; x?—3xy — 40y%; 4%+ 9ab + 8b%; 4 — 5ab — 10452,

a* =522+ 4; a*— 1447 +33; x4 %% + &t ot — 1742 + 16.





